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RRBE1TE 292 351 377 728| KEM1TH 309 426 441 867
RRB2TH 365 492 490 982| KiE#2TH 129 152 171 323
HEBITH 158 213 215 428| K#BM3TH 84 115 120 235
RRIBATHE 200 245 263 508| KR4 T B 111 145 150 295
MEBS5TH 274 320 318 638| KIEM5T B 112 146 149 295
[(BETE)] 1,289 1,621 1,663 3,284| K1R#H6TH 114 126 137 263
FhiF71TH 176 190 217 407| K#BH7TH 142 165 157 322
7hi72TH 205 218 264 482| K#BH8TH 157 186 198 384
[7HS7) 381 408 481 889| KO T H 59 99 91 190
By R 317 373 406 779|[R1R %] 1,217 1,560 1,614 3,174
[hB4 ) 317 373 406 19| KiEE 416 418 419 837
®&51TH 413 470 514 984|[RiFE] 416 418 419 837
#&52TH 264 314 333 647| KF1TH 193 45 168 213
(&) 677 784 847 1,631| X=%2TH 341 366 347 713
FES1TH 284 355 368 723|[RZ] 534 411 515 926
FEL2TH 390 522 527 1,049| =R 280 356 383 739
FE&3TH 197 265 276 541|[ER] 280 356 383 739
FEL4TH 131 217 210 27|EER 340 458 470 928
FEASTH 68 108 100 208|[FETEE] 340 458 470 928
[FES] 1,070 1,467 1,481 2,948|= 148 177 217 394
mBEs1TE 294 380 370 750([==] 148 177 217 394
RE&E2TH 313 365 404 769(;578 50 71 85 156
[[AEE]) 607 745 774 1,519| (8178 ] 50 71 85 156
B4y E1TH 364 457 512 969(/\¥F+X1TH 150 230 202 432
B4y E2TH 540 670 674 1,344|/\<F+R22TH 157 202 202 404
B4 E3TH 262 279 327 606[[/\<F+R] 307 432 404 836
[#85 E1, 2, 3] 1,166 1,406 1,513 2919|BMA1TH 289 483 468 951
B4y EATH 746 876 940 1,816| B &E2TH 328 545 529 1,074
[E24 K4) 746 876 940 1,816|[BMAE] 617 1,028 997 2,025
B4 ESTH 467 489 578 1,067 &5t 10,644 13,097 13,809 26,906
pNicLiil 15 17 22 39
[#4 E5] 482 506 600 1,106




